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8.

9!

10.

11.

12,

13.

14.

Globalization increasingly leads to:

a. Increasing inequality between some
rich countries and other rich countries

¢. Increasing poverty for all nations

b. Decreasing inequality between all
groups because of technology

d. Increasing inequality between rich
countries and poor countries

The world’s wealthy nations constitute only about one-fifth of the world’s population
but they hold about................. world's entire wealth.

a. Three- fifth
c. Three- fourth

Which of the following is not true?

a. Culture of poverty as having sense of
history and knowledge to alleviate
their own conditions through
collective action

c. The culture of poverty assumes that
culture itself is relatively fixed and
unchanging

b. Four-fifths
d. Two- fourth

b. The Culture of Poverty theory focuses
on the cause of present poverty as the
behaviors and attitudes of the poor

d. Culture of poverty is a social theory that
expands on the cycle of poverty

According to Max Weber, there are three major criteria used for measuring social

inequality:
a. Wealth, power and prestige
c. Power, race and religion

Ethnicity:

a. Refers to cultural traits passed from
generation Lo generation

c. Refers to physical and cultural traits of
human populations

Casle and class societies:

a. Differ in terms of social mobility

c¢. Differ in terms of ascribed versus
achieved status

b. Prestige, education, and religion
d. Wealth, religion, and prestige

b. Tends to cul across socioeconomic lines

d. aandb

b. Have either absolute mobility or a total
lack of mobility
d. aand conly

The conflict theory interpretation of inequality argues that:

a. If people are to make sacrifices
necessary o perform vital jobs,
they must be adequately rewarded

<. The upper levels of the hierarchy
exploit those below

b. The most highly skilied people deserve
the most money

d. All of the above

The functionalist interpretation of inequality argues that if people are to make sacrifices
necessary to perform vital jobs, they must be:

a. Adequately rewarded

¢. That the current system serves lo
move the best people to fill key jobs
into those positions in society

b. That the most highly skilled people
deserve the most money
d. All of the above
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